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SECTION - A

l. Discuss the following terms :-

(i) Aggregation

(ii) MacroecooomicPolicies

ffiRil rrdf qt qcl (t:*

(i) s6'fr6wr

(r) rm ffBv fr t qam s.zs d qrm *r l{ rqffi qrq

qr lt

Define net export function. An increase in the

marginal propensity to import reduees the equilibrium

income level in an open economy, while an increase

in autonomous export increases the'equilibrium level

of income. Explain with the help of a graph.

ga ffa wffi d qRtaR-d dfrq r srqm fr ffid n-{R

t gk V* qfr s+€{qr + (gaa qtc St d 6q o.,(&

t, d-cfr' qrq't ffit t gB srq A B-E-d-{ K{ ql E-.drft

E I g.fi', ruF6 16I SEt{ II lHEIrgq I

(a) EiBlain financial marhet-equilibrium with the help

of money supply and money demand analysis.

(b) What .is the money multiplier? If checkable

deposits (c) is zero, and the reserve ratio (0) is

0. l, find the value of the money multiplier.
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(a) Calculate the equilibrium level of income in this

model

(b) Calculate also the budget surplus

(c) Suppose that t increases to 0.25. What is the new

equilibrium income?

vo qdq{p{r * sR I ffifud qrrort Ee rq,n A drfr

E

C:50+0.8YD

I=70wi

G = 200 tci

TR = 100 Itli

t = 0.20

(w) rt {so I onq * wgo-* wt * rrsr<r qt r

2. ' Explain the concept of the uses-of-saving identity.

qr-sfs-tfr.r qrSEA d fr{mqr d {mnirr I

6

3 Discuss the concept of multiplier. (Diagram is

required).

gqt' * f,quren ln sd qt r (sfr€ qrsqo' t)

What are the two components of the user cost of

capital?

{fr d scffi FrFre + i qs'rtrt {?

5. What is the full employment budget surplus?

{d +firr( roe qDric wr *?

What are the motives for holding money?

$r rK+ * sts wr l?
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7. Explain the reiationship b€tween bond price and rate

of interest

q6 fr frrr *< qro qr A ftq trr d qcflEs r

Section - B

What is macroecoflomics? Mention the issues of

macroeconomics that macroeconomists address.

qqk w{rr'€ wr *? {cfu s{snq * vr 3fr ot t-*e .

qt frra* T{k ffif,rrFff fitur ott * r

2'. (a) Suppose nominal GDP is $66,000 and real GDP is

$62,000, find the value of the GDP-deflator.

(e) rmfr fu irqcr.d ffffi $eopoo t ft qRR-o, ff9ft

s62,ooo +, fr&ff-ffic{ 16I {eI mt at r
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Give two equivalent way6 of describing equilibrium in

the goods market. Use diagrams to show how goods

market equilibrium is achieved.

cFg crqR + q!fd-{ qr qdi 6.d * i {crq <Q* fffrq r

q€gu] + qrmn q$m til *t n< frqr qrtr t qa ffi
+ frs ffM- or gqti..r 61 r

What is the budget surplus? Explain the effect of

government purchases on the budget surplus.

qwe BrDric Rr *? qtrc srEric .R q<flt <te * nqq

d qrreqr qt r

5. Following information about an economy are given

4
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C=50+0.8YD

I = Rs. 70

'G = Rs. 200

TR = Rs. 100'

t = 0.20
(s) qa tfr{ + qR T.nl fr qft nrwr
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(b) List the four components of total spelling.
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